2022%7A3H 3[E12H /& 1R
B 3 ML RBSFI (10:00%%)

= 2860m
1 AAZIDAADD INEFF HEK 4.0% |7 &2 0.0% [>ZRH—Z=ZZRXH5— 0.0% |#A bFik 5.0%
2 AA23aIR>HIL x5 11.8% |k B8 0.0% |(rpOJ=x 6.3% |MA bFiE 5.0%
3 AA23aT3vH /NN K 0.0% |7 F&iE 0.0% |F+XF 0.0% |#A bFif 5.0%
4 —R>EOnAO— it 5z 14.0% |ARED Flz 7.7% |F>oO~N10O0— 9.1% |[/Jvk J|m— 0.0%
5 F—A—=IL)DT—=IL R mfE 5.6% |#BH &=z 0.0% |/{rO 0.0% |/ th 0.0%
6 |RXHTIS>3 KEE FO5R 0.0% |fEAN & 0.0% |r—JJ5>0 0.0% |k X 25.0%
7 EXRVD MR Bt 4.2% |EH =B 9.1% |FS>TURR 0.0% |FvESIL:SZRFA 0.0%
8 [B2SAXFFLR R HhE 7.3% |#& h— 0.0% |T>/\ATFA—=H— 0.0% |#:FE PERE 0.0%

HRER AR
1 RAZ3TAXA1D INEFF HHK 24.0% [l &2 0.0% [>=ZRH—==—RXH— 0.0% | 4Fif 10.0%
2 AL 3IRIHIL B 41.2% |k EfF 28.6% |oOJx% 6.3% | UFiE 10.0%
3 XASIDSvH  |[IMEIEA | 0.0% |t Fik 20.0% |F2F 11.1% |iA [kE 10.0%
4 —R>eEOn-O— At g2 20.9% |AR3D Flz 15.4% |F>I~\10O— 18.2% |/IVbk Te— 0.0%
5 ke e VARSIV HER MR 11.1% |#8H 8= 10.0% |/\rO0 0.0% |[/\i&E 1t 0.0%
6 AZAHTS>0 KEE FOFR 0.0% [ER EE 0.0% |o—72J>>3 0.0% [k BX 25.0%
7 EXIVY My Bt 12.5% |@H =B 9.1% |FS>TURR 0.0% |[FvEHIL-ZAFLA 0.0%
8 TISAATHLA Bk S 14.6% |¥a I— 0.0% |To/ A 7A—F— 14.3% |HAm BEkE 0.0%
=
FE =23 BT T HRER T WIS T BE R
1| XA23PoAC1D NI A | 28.0% | B2 0.0% |S—AH—=—A5— 33.3% [HAA B 15.0%
2 RAAS3IRHIL B 50.0% |tk SiFE 28.6% |0OJx% 18.8% |#AA bFhfE 15.0%
3 AA> 3T vH /N HIRKR 0.0% [tiR Fei 30.0% |F+XF 11.1% |#AA bFhE 15.0%
4 —R>EOnO— At f§2 34.9% |AR3ED Flz2 30.8% |F>I~10O— 45.5% |/JVbk 3e— 0.0%
5 F—=A=I)L)DT—=)L HER MR 30.6% |tBH 82 30.0% |/\-rO0 14.3% |/ViE At 0.0%
6 AZAHTS>0 KEE FOFR 12.5% |EAR E& 0.0% |o—72J>>3 16.7% |KH BEX 25.0%
7 EXIVD My Bt 20.8% |mH =B 18.2% |JS>TURR 0.0% |[FvEHIL-ZAFLA 33.3%
8 |[Fo5AA7FLX Y 24.4% (¥ D— 25.0% | T/ XA 7 A—H— 28.6% |1oME PEHE 16.7%




2022%7A3H 3E12H /& 1R
R 3 MLLE RBSFI (10:00%%)

BF +1EHS
& B4 =}
4 —R>EON/O— 11.5%
2 XA 3IRH)IL 9.0%
8 B2 SAXTFLR 3.7%
5 F=A—IL/ D=L 2.8%
7 EXRVYU 2.1%
1 AAS3DVAADD 2.0%
6 XXAHTS>3 0.0%
3 XA 3D2vH 0.0%




